
  

User:  jdmpx  |  Contact Us

Parts Catalog - Option Detail   

Electronic Parts Catalog - Option Detail

Option Group Graphic Film Card Date

CP1801 12.01 cp104gd F 15-NOV-92

Engines NH/NT 855, NT495, NT743, NTA855 N106

SMALL | MEDIUM | LARGE
 

Cart Ref No Part Number Part Description Required Remarks

View My Cart

  CP1801 Air Compressor  Midland 16 CFM air compressor...(More)

     for direct or remote mounted

     air governor with top air

     discharge. Compressor

https://qsservices.cummins.com/qshd/feedback.php?productid=1
javascript:swap_img('cp104gd','/rtgraphics/english/parts/cp/1/cp104gd_sm.png');
javascript:swap_img('cp104gd','/rtgraphics/english/parts/cp/1/cp104gd_md.png');
javascript:swap_img('cp104gd','/rtgraphics/english/parts/cp/1/cp104gd_lg.png');


     draincock supplied in CT

     options. Includes mounting

     for Big Cam engines. Cannot

     be turbocharger.

1 69324 Plain Washer 2 3/8 in.

2 135783 Lock Washer 1 7/16 in.

3 200398 Spline Coupling Hub 1  

4 200824 Spline Coupling Sleeve 1  

5 206326 Twelve Point Cap Screw 1 7/16- 14 X 1 1/4 Inch.

6 3015282 Captive Washer Cap Screw 3 7/16 - 14 x 1 1/8 inch

7 3038076 Captive Washer Cap Screw 1 3/8 - 16 X 15/16 in.

8 3063556 Hexagon Flange Nut 1 5/16 - 18 UNC

9 3067564 Captive Washer Cap Screw 4 7/16 - 14 x 1 1/2 inch

10 3069102 Air Compressor Gasket 1  

 11 3069103 Fuel Pump Gasket 1  

12 3069186 Air Compressor Brace 1  

 3005133 Accessory Drive 1 Recon equivalent 3005133 RX

       AR45724 Accessory Drive Housing 1  

13           S 911 B Pipe Plug 2 1/8 NPT

14           116391 Bushing 1  

15           3002171 Fuel Pump Support 1  

16       170664 Plain Washer 1 3/8 inch

17       3000173 Hexagon Head Cap Screw 1 3/8 - 16 x 1 inch

18       3000174 Spline Coupling Hub 1  

19       3014103 Plain Washer 1 1 1/32 inch

20       3026556 Thrust Bearing 1  

21       3026557 Thrust Bearing 1  

       3067901 Gear And Shaft 1  

22           142689 Accessory Drive Gear 1  

23           3000171 Accessory Drive Shaft 1  



24           3034438 Groove Pin 1  

25 3010590 Captive Washer Cap Screw 5 7/16 - 20 X 1 1/8Inch.

26 3069101 Accessory Drive Support Gasket 1  

27 3067469 Air Compressor 1  

28 3027232 Pipe Plug 1 1/2 NPT

 
© 2019 Cummins Inc., Box 3005, Columbus, IN 47202-3005 U.S.A. 

Terms of Use and Disclaimers  |  Recommended System Requirements 
Need Assistance? Please click on the Contact Us button in the top right corner of any page.

https://quickserve.cummins.com/qs3/qsol/terms.html
https://quickserve.cummins.com/qs3/qsol/system_requirements.html

